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‘s’ .rdata:00403000 0000000E C libgej-13.dll
[s] .rdata:0040300E 00000014 C _Jv RegisterClasses
rdata:00403024 0000000E C Please input:
rdata:00403035 00000011 g You are correct!

[s] .rdata:0040304C 00000018
rdata:00403064 00000031
[s] .rdata:00403008 00000032
[S] .rdata:004030CC 0000002A
.rdata:004030F8 00000013
[s] .rdata:0040310C 00000013
[5] .rdata:00403120 00000013
rdata:00403134 00000013

Mingw runtime failures\n
VirtualQuery failed for %d bytes at address %p

Unknown pseudo relocation protocol version %:d.\n

Unknown pseudo relocation bit size 9%5d.\n
GCC: (tdm-1) 4.9.2
GCC: (tdm-1) 4.9.2
GCC: (tdm-1) 4.9.2
GCC: (tdm-1) 4.9.2
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12| int w33 // [espt3lh] [ebp-27h]
13| int v1@; // [esp+35h] [ebp-23h]
14| unsigned _ int8 w1l; // [esp+39h] [ebp-1Fh]
15| char v12[29]; // [esp+3Bh] [ebp-1Dh] BYREF
16
b 17| strepy(vl2, "Qsw3sj_lz4 Ujwil");
b 18| printf("Please input:");
b 19| scanf("%s", &v2);
b 28| result = v2;
P21 if (w2 = "A" )
23| {
b 23 result = v3;
b 24 if (v =="0C")
25 v
b 26 result = vi;
b 27 if (w4 == 'T" )
28 {
b 29 result = v5;
) 38 if ( ws == "F" )
31 {
)32 result = v6;3
) 33 if ((ve == "{")
34
b 35 result = vll;
) 36 if ( vil == "}")
37
) 38 vi[e] = v7;
) 39 vi[1] = v&;
L wvi[2] = v9;
)41 vi[3] = vie;
) 42 *(_DWORD *)&v12[17] = @;
)43 while ( *(int *)&v12[17] <= 15 )
44
b 45 if ( *((char *)vl + *(_DWORD *)&v12[17]) > 64 &R *((char *)vl + *(_DWORD *)&v12[17]) <= 9@ )
) 46 *((_BYTE *)yfL + *(_DWORD *)&12[17]) = (*((char *}vi + *(_DWORD *)&12[17]) - 51) ¥ 26 + 65;
) 47 if ( *((char *)vl + *(_DWORD *)&12[17]) > 96 && *((char *)vl + *(_DWORD *)&/12[17]) <= 122 )
) 48 #((_BYTE *)vl + *(_DWORD *)&12[17]) = (*((char *)vl + *(_DWORD *)&I12[17]) - 79) ¥ 26 + 97;
) 49 ++*(_DWORD *)&v12[17];
8
) 51 *(_DWORD *)&v12[17] = @;
b 52 while ( *(int *)&v12[17] <= 15 )
53
) 54 result = (unsigned _ int8)v12[*(_DWORD *)&w12[17]];
) 55 if ( *((_BYTE *)vl + *(_DWORD *)&12[17]) != ( BYTE)result )
) 56 return result;
) 57 ++*(_DWORD *)&v12[17];
58 3
} 59 result = printf("You are correct!™);
68 1
61 }
00000862 _func:46 (401482)
g%

V12=[IDI,ISI,IWI,IBI,ISI,IjI, l
flag=""

for i in range(16) :
for j in range(128):
X=j
i chr(x). isupper () :

x=(x—51) %26+65
if chr(x).islower () :

x=(x—79) %26+97
it chr (x)==v12[i]:

flag+=chr ()

print ("flag{'+flag+'}")
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